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1. wwa&mm\wﬂawﬁgqm%mgaam:
A 4. WERSU
 ®. TR T WEw
(1) $,asUe (2) ® w3
@3 W safma (4) F,waafus
From North to South the locatlon of the Hydroelectnc pro_)ect.s in Maharashtra are
as follows
a. Radhanagari b. Bhandardara
c¢. Eklahare - d. Bhatghar
() cbandd @ dbanda
@) b,danda | 4 abandec
2.  wEhwaid Sven Regme e grg TEs g ? :
(1) wreEg, S - @ =@m, mﬁﬁt\Q |
(3) AT, IR @) 59{{ Tt
In which of the followiné districts is chromite m@ mainly fou.nd ?
(1) Kolhapur, Solapur | | ( @hﬂne, Nashik . .
(3) Nagpur, Amravati \Q‘§ Bhandara, Nagpur, Gondia :
3. 2001wammﬁ3anm?ﬂa At awae e e
(1) seadl, g3, Jies (b’s (2) o, TR, SRR
(3) g, JAARTES, TR @) g, wefah, fEmeh
According to 2001 , the districts of very low density of population in
Mzaharashtra are : : . _
™ Amravati, DRe, Nanded (2) Thane, Nashik, Chandrapur
. (3) Bu.ldhana Yavatma] Wasth (4) Sindhudurg, Gadchiroli, Hingoli
4. ammmm. :
(1) g ‘ (2) Jawon
@) wfeft - (4) TR
o is a tributary of Ulhas river, '
- (1) Kalu . (2) Vaitarna
(3) Savitri | (4) Dshisar
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5. Wi fowmn e o5 YO wwAr Wy @t S
4. ghepe
. &, 3’41#?
3. wigEr

M FEAT @ TFLA B LA @) HLH
Arrange the following places in ascending order as per thell' height:

~a.  Kalsubai
b. Harishchandragad
¢. Kumbharli
d. Phondaghat - o - \ =
(1) ¢b,ad (2) d,c,b,a {8 c¢d,b,a . (4) b,c,d,a

6. gEe & . _
(1) 7 fm-adfm
(2) gz e - g sadt S LN
@) g s wwRer - A w5 Q{\
(4) v R el R - R \%’
Choose the wmng pair. '
(1) Dbert Bill - Lord Ripon | ’OQ '
. (2), . Wood's Despatch — Lord Dalhousie Q -
(3) Indian Universities Act - Lord C _
(4) FustlndmnFactonesAct Lo ton .

@ 1895 @ 1’@ @ 1898 (&) 1899
The title: ‘Rao Bahad s conferred on the pzonea' of the’ Labdur Movement,

Narayan Meghaji de in _ )

(1) 1895 N2 | 1896 () 1898 @ 1899
8. | T‘ﬁ“ ﬁﬂm m Wm@ﬁ & : .

s S EoodeeERe

1) #,9,%3 (2 &N (’3)3313@5 (4)3:3”5
Arrange the following Educatmn Commissions in their chronologlca] order:

a. Raleigh Commission b.  Hunter Coitimiksibn
¢. Sadler Commission’ -~ d. Wood's Despatch .

® abed @ deba @ dabe @) dbac
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9. R i R TR g sifteT B8 Wi o 2
- (1) W ' 2 %
@) C @ ™ |
Where was the leeond session, of the All I.ndm Kisan Sabha held ?
(1 : 2) Faizpur
- (8) Mumbai . - ~ (4), Pune
10. mmhmﬁtm ' T AW, :
(1) GHeN g eeEd (2) T YHT AHES
(3) e GIHFIR Herd @ I e W
-, ‘Bducation through self help is our motto’ is the slqgan of the mstituhon
(1) Khandesh Education Society . . (2) Rayat Education Soclety

o (3) People 8 Education Soclety 4) Deccan Educatlon Somety
¥ wRem aﬁaﬂ T 4% 9 fadia, 1946 Ut wreft.

W WU a9 20 A, 1947Hmaﬁﬁraﬁwﬁm
%, . e SRNE TN St SR e \Q

1) H (2) e
(3) AT , 4 3 - =mﬂ
Select the incorrect statement.
a. 'The first meeting of Constituent Asse _ held'on gth December, 1946.
b. The Constituent Assembly on 29%' st, 1947 appoim;ed the Drafting
. Committee. '

"c. BN.Raowasa oonstitutione{ggor of Constitutior Assembly. -

. (1) Onlya o ’\ - (2 Onlyb 7

" (3) Onlyc & (4) - None of the above
12, m«ﬁu e fiftn € Hrort o R et ?

. mﬁﬂ'-ﬁthﬁhﬁ
'q‘. Y, 9N q

F.  HEUR TH
. (1) Eem A, q A E (2) TRIATE
(8) mas:mﬁrts o . 4 wEmE,wAWNE -

Which congepts were borrowed from British Constitution in Indmn Constatutmn ?
‘a.  Directive Principles of State Policy
b.  Liberty, Equality and Fraternity

c. RuleofLaw

d. Procedure of Lawmsking -

(1) Onlya,bandc (2) Onlybande ’

(3 Onlycandd = - . . (4) Onlyb,candd R
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O a gdam aﬁmmmmawmmﬁmﬁmmﬁm |
A A E aﬁkﬁﬁmﬂﬁzsﬁaﬁm maﬁw@a@m
o wws v @ wEy o
(8) aﬁaﬂaﬁga ' o mwﬁ : o

"%, Dr BR. Ambedkar described Article 33 a8 %e soul amHmrt of the
Constitutlon

. (1) Onlya : .: o (2) wab ‘;
(3) Alloftheahove . ‘ ' (4)#‘Nom" '

14 mmwmmmm9 QJ\
A, ﬁwm | (O‘Q
S

% Jwes o
5. :ﬁt!ﬁ!!l o | ‘& | | o
S0 wwaads o O @ A
(8) TR, EAMS @ web@ T

Inwhigh'.st,am.
a. Telangana . Lo | L
b. AndhraPraduh R S v
| c Uttarakhand |
d.  Uttar Pradesh - . .
W '0“1’5“““ | Gﬂfmbraadd
- ®) Onlyb,candd o (9 Allof the sboye
A ST TR 1 SPAGE ronnouenwom‘ TR TR T T

ia, does the Legislative Council exist ? 5
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18 ‘mwmmmmmm -
. mﬁwﬁwaﬂﬂﬁmmm&ﬂawﬂg@hﬂ%m@ﬁmmm

= memﬁammmmmh ank.
% T T e 51 A0 11 A wasarEr S oM. mﬁaﬁw 2002 79
/ HATI1 86 3 wgwhzft I T A, [
Q) wRA _ (2) % & e
1 - (3) o A% ‘ | (4) wheldeh vd | .
: ‘Which of the followmg Btatements lslare oorrect about the fundamental duties of the
- citizen 7
4 " a, _The fundamental duties of the cltxzens were added in t.he Indmn Constitution
in 1976 by 42°¢ améndment. |

b. J apanese Constitution is the only democratic Constxmtlon in tbe world which
3 “contains a list of duties of citizens. : ‘ ‘
i c. Article 51 of the Indisn Constitution ‘contains me&amsntal duties of
. citizens. 11tk duty was added by the 862 Conshqkhal Amendment in 2002.
(1) Onlya. @ andb - -
g ~ (3) Onlyaande @ ‘Q of the above
i , - 0N
3 16.  Gritele ST ST W A ? .2,&
1 e s e {L.

(1) R, 9, 3 2) wéi,ss:rﬁtzr R

(3 wmA @) wmEqaMe
Which of the following. enJoys the Constitutional status ?
a. . Election Commission |
b.  District Planning Committee -
.e.  University Grants Commission
d. . National Commission for Scheduled Castes
e. Central Vigilance Commission s ] ‘ .
(1) Onlys,b,dande - (2) Onlya,dande
(3) Only aandd - A (4) Onlya, b andd” -
mmuﬂm 1 SPACE FOR ROUGH wonx T L LR pRD,
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17. mm@mmmmmwmmwmmo
wid S TR 39U ATeled 3ed ?

(1) 94=n (2) 95= (3) 9673 (4) 98=a

Under which Constitutional Amendment Act was the reservation of seats provided
for Scheduled Castes and Scheduled Tribes in the State Legislative Assembly up to
2020 ?

(1) o4tk 2 95t (3) 96th (4) osth

18. WIcAIeTdshl ShIvd TSAT=AT SRUMEsEt ARTEIh e T8 ?
(1) TSI HIUATE AfFdel HAUHIRIS THAT ATHTE Ihd TEI.
(2) TS G&l q =il auiaaea Td GerAT gadia 9 Hiokd e 5.
(3) TSIM STeihredl gge fasmmardt geft Iueey heft wifest.
(4) TSY uH, 991, Ira, for e ST=IEa™ a1 SHRUTEEA ANTREHMEY HewTd TR T8
Which 6ne of the following is a Directive Principle of St: olicy ?
(1) The State shall not deny to any person equalit&%ﬂgre law.

(2) The State shall provide free and compuls ucation to all children of the age
of six to fourteen years.

(3) The State shall secure opportun;tfﬁhealthy development of children.

(4) The State shall not discrimin gainst any citizen on grounds of religion,
: race, caste, sex or place of’ i

19. @i R femm e QY
R 1o o S e &?ﬁamm (= 256), stofamft fawes atqd

(37387 - 352, 56)m1935wmﬁ@r§aﬁlé@%wwsﬁmm%a
¥, TSEEEAdd Tedften Wad <@ 1935 = HREW § gafad g
creaTeft ;
(1) fagm o1 st MR, & ghE IR (2) faum 9 SO 3R, A FHR AW

(3)" A faum sl smRd (4) Qe faam ghreh Rd

Consider the following statements :

a. The Administrative Relations between Centre and States (Article 256),
Emergency Provisions (Article 352, 353, 356) of the Constitution are similar to
what the 1935 Act suggested.

b. The provisions of the Constitution relating to adult franchise are also similar to
what the 1935 Act suggested.

(1) Statement a is correct, b is false (2) Statement b is correct, a is false

(3) Both the statements are correct (4) Both the statements are false
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A, How 14 I.  Tiwonfaegan SAftFeR
S d, wmEW21A II. et st
% wW23 IIE  HRErE J
T - %AW 18 IV. 6%14auiara&ga1gvﬁm=hmaaﬁaﬁﬁm
' w * T
1 v II 1 III .
(2 II v I - I
@ I I M eIV
@ I I VI
Match the f_'o]ldwi.ng: -
a. Article 14 I ° Right against Explmtaho@
b “ Artlcle 21A - 11. Abolltlon of Titles &%
e, Artlcle 23 - I Equality before | _ _
d. Artidel8 . IV. Freeand ry education to all children -
ears ‘
a b c
M.V I 1OV
@ I ' I
3 1 v
4) II 1
21. -m&mmm 2oo5uamﬁwwmﬁm _=m
() 85 (@) 28 S
(3) 31 (4) 39
The total umber of sections in the Right to Information Act, 2005 are _ .
O 35 o 2 28
@ 81 L @ 39
mm@tmlsmce FOR ROUGH WORK T PTO.
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22, g@nﬁﬁw&amﬂﬁﬁmﬁaﬁwaﬁrmﬂﬁwﬁm

(1) & wE

(2) YRAR qT R

@ . aawam%g@wmﬂm .

@) 4o P g

The salary, allowances and cendition_ of semcee of the Chief Information
Commissioner shall be as that of :

(1) = Chief of Army |

(2) Chief Justice of India

3 Chief Justice of High Court

Y Chief Election Commisgioner

23.  wifteht Arftrr sftfram, 2m5w§awajgﬁa§mwmmmmm?
) T=EIFER , (@ ammftcﬁ

(3) %W | @ tman% g%
The second Schedule of the Right to Informatlon 5 can be amended by

(1) State Gmfernmeht‘ : . (2) Informatlon Officer
(3) Central Government: (Q me Court of India

¢)) mmwmm&aﬂ&

@ TEEdsw. Q)

(3 wWRe _&umwmw .
(4)  wifiedt s mwﬁaﬁﬁmm

Which of the fo]lowmg facts about the. post of Chief Informat.lon Commmsloner is not
correct ? ‘ :

(1) Shall hold office for a term of five years.

(2) Shall be eligible for fegppbintment..

(3) Shallnot'hold office after he has attained the age dr‘éixtir' five years.

(4) Information Commlssmner can be appomted as the Chief Informatlon
Commissioner.
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uﬁ?ﬁweﬂﬁamamﬁmﬁaﬁwm mmﬂ%ﬁﬁaawmaﬁamﬁﬂw
¥ ey <t et arama dvar el 2

(1) 24 vrer=AT 34
(2) 48 qE=AT A
(8) 72 TErAT I

(@) 12w AW

When the information sought for under the Right to Information act, concerns the
life or liberty of a person, w1thm how many hours will it provided after the receipt of '
the request ?

(1) Within 24 hours

' (2) Within 48 hours

(3) Within 72 hours

- (4) - Within 12 hours

W%ﬂ@?ﬂ'ﬂﬁmﬁl@ﬂw ‘A’ma@%w 103@«‘?'@11@13:137313& ?
1) = (2)

@ 15 _ @) c]

In Hexa dec:mal system of numbers as ‘A’ s m@r value ‘10°, then ‘Fis -

(1) Zero X , (.Q 11

3 15 ) All of the abave

27.

w@ﬁmwm@l:%

(1) e e wed e Sloi)
(@) tlahtr&mmma; . '

(3)  oNIwR e Rl et

(@) afetH wdh mh |
Communication between computers using standard telephone lines
(1) Requires a change to an analog signal

(2) Is most efficient

(3) Produces little noise and few disturbances

(4) None of the above

ZFeeqy BRTIAIS! ST / SPACE FOR ROUGH WORK . . R - P.T.O.
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28 mmmm i&'(CIC)mw‘gmm

(1) b#ARE, 1990 '

(2) 17w, 2002

(3) . 537, 2002

(4) 103w, 2002 |

The Community Informatmn Centre’s (CICs) prOJect of the Gov'er’nﬂ:tent of Indla

@ 55 August, 1990

(2) 17 August, 2002

3) 5% June, 2002

(4) 10th August 2002

29, 1969maﬁm'éﬁaﬂaﬁﬁwmﬁm mémamu#nmmm

B | I B _ .
) RS
(2) IR . , . \@* ‘
@ e - Q
@ RO N
 In 1969, which of the following has t Academicians, Corporates and
. Government Organization together, f 7 o .
" () Cybernet | \159 -
(2) ARPANET \\

(3) Webnet

QO
4) None of the a@.Q

30. mmm‘%mmmmmmwmmm

[ ?
S e @ wwwmtmh)
3 ®e (@) e e
A private network based on same technology but restncted to an orgamzahon or for
. internal use is called
(1) Internet ~ - © L (2) . WWW (World Wide Web)
(3) Intranet - “4) ‘None of the above

FRCH! WIS AT / SPACE FORROUGH WORK # * =+ © 7 & 0 W 3
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sl. aﬁﬂaﬂﬁaﬁmﬁmﬁ GISTayfigew s ? = - .
(1) muﬁmszﬁﬁmm (2) _ﬁmaﬁﬂar«s:ﬁﬁmm
@3) HR o Reedim (4) vs wenT R
is the full form of GIS. | |
(1) Geographical Information System (2) Geological Information System
(3) GEO Information System - (4) Grand Information System
32. wimue
) e s Reaw el sraaa
(2) TRfieat Rt sl wrt vt sgera
(3) fidiee v aef@ s
4) w0t et
In Modems ,
(1) Several digital signals are multiplexed
- (2) A digital signal changes some characteristic of a c&r wave
(3) Digital signal is amplified & :
(4) None of the above AQQ |
N R —— o |
1) %ﬁm(@%smw o 9, Aicedfife wéen enfor-sdie
(2) R (IR, TEradt, e ,-qaqn:ﬂ'mqé TE.9E.E., ¥A.HH., O9 s
TEERE AN 308 g sﬁaa’ﬂﬁai:mﬁmiﬂﬁé mﬁrﬁwmm&a
- )
(3) Fregor (- mmmm,mﬁmﬁ)
(@) et |
Apphcatlons of Media Lab Asia are :
(1) Empowerment of the dlﬂ'erently-abled (embedded systems, assistive devwes
~ assessment tools, iconic interfaces combmed with multimedia portals and
- contents) .
(2) Health care (ICT in health care, promotion, Healthpedm HMIS, HIS and :
 linking health care hierarchy through telemedicine, electroni¢ health records
and affordable health care equipment and devices)
(3) Education (pre-primary, web and mobile based access, intelligent tutonng)
‘ (4) Al of the above : _ :
YY1 PIIIS ST / SPACE FORROUGHWORK . . -~ _ PT.0.
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34, wER AAH Hhawt v a%.':r TG AR Pt 7
1) fayEE 2) W auh
@ whaEd B @ faga- ] mﬂ
The medium of data transfer t.hrough fiber optic cableais
(1) Electricity o 2 L:ght waves
" (8) Sound waves N 4) Electxomagnetlc waves
35. uﬂ%ﬂ’ra‘ﬁmmﬁ ‘tﬁ{'ﬂ (P2P) ) |1 qOEAET a!limiﬁi’t?
1) fmgfm @) AL
@) vehisg s ' (4) ploe oA
~ With reference to the Internet, the meaning of the term ‘P2P' is
(1) Peer-to-Peer - (2) Person-to-2bpion
(3 Public-to-Public ' @) Pmo@-mnc
- o

mﬂaﬁuﬁﬁmaw |
A ﬁmﬁﬁmwmaﬂﬁwm@{gm.

w. i Pl @ Refe wid "
£ 3 mﬁmﬂﬁmw weﬁ

(1) v H o N (2) wRTINF
3) & A A F | 4) wtwtdred

Consider the following statements :

‘a. USAmtheﬁmtcounuywhostamdregmnalplanmng |
~ b. The area of national planning is rooted i in the BOlﬂheV'lk Ravdlution

c. India started its regional planmng from 1976.
Whlch of the statements glvenaahov;e are cor;-ect ?
(1) Onlyaandb , (2) Oniybandec

'(3) Onlyaande . @ All of the above

m:mmﬁ'rmlspme FOR Rouauwomt

b 7T -

e e ———




MR AL T R T e A

RUH ULty | L

e

37.

15 o )

_ﬁa‘lamammfa ﬁwﬁaﬁuﬁﬁamw
A

ﬁiﬁaﬁﬁm%aﬁaﬁ%mmﬁmmmmmwﬁ
Mwmmmmmﬁmﬁmmm
- HEHEHIE W

- gdumaye iR 2 visaamd e e[l 9w, A T N R, AT o
mmmmmmmwmmm

Fhath SR/ faumA o AR/enda ?

(1)
(2)
(3)
(4)

] A

'mmﬁrﬁﬁaﬁm

B
31 onifor & Gt A

In connection with-planning, consider the following statements :

a.

Decentralised planning is closer to the neoclassical vigwi of the functioning of
economies which lays stress on markets and priges with the public sector -

*

confined to selective programmes only. N
'Comprehenswe planning was introduced in gﬂpltahst countries, it was in

nature comprehensive. It was so in the that the plans dealt with the

entire inputs and the entire outputs of economies. -

Which of the statements given above is/! orrect ?

(1)
(2)

-3

(4)

Only a %Q

Both a and b are incorrect \I
Only b Q

BothaandbareconQ(O'

Gt S 3 v M 2

(1)
(2)

ELHED
i Freiem

3) . Tmifoes fEea

(4)

weETE R

Which of the following is not a feature of Indian planning ?

(1)
(2)
3
(4)

Indicative Economic Planning
Physical Planning

Social Planning

Socialistic Planning

mmma"twmsmcs FORROUGHWORK . - | P.T.0.
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39. el e farom o - Y
. wmmﬁmmmmwmm“ﬁm |
W, qEE AeAa sferEr aifte 3l @ 8% 9 IR AR, |
.. ‘oRTg faene qrEt qEeAT Qe R W S

et B R i s/ 2 .
(1) waa A e (2) vt 9 anfy %

(3) wRAAMME ' @) wWF
. Consider the following statements :
a. The focus of the Ninth Plan was growth mth 80(‘.'18.1 justice and equahty’
b. Target of 8 percent annual growth rate for the econoniy in Tenth Plan
¢.  The focus of the Second Plan was ‘Infrastructure Deyvelopment’. '
Which of the statements given above is/are correct ?
(1) Onlyaandb (2) Onlyb andc
(3) Onlyaandc o (4) Only c.

10, mmw@u mmmammm@ mawhmaﬂaahw ,

- e
2 mmﬁma@)
@ Tt B I 5740
q 9A : II. 8392 o
% W@ - NL 9009 (g
3. s Iv.

* L AR (2
1 I IT IV .
@ I I \\tv

3 m . Iv
4 Iv. m . II

Primary human need are and opportumty are the soma.l progress mdxcators In

this connection ma e following : :
Country Social Progress Indzcator (2016‘) -

a. Finland L 57-40

b. China II. 5392

¢. India _ III. . 90-09

d. Nepal & Iv. 6201
a b c d

1) 1 I Iv I

2) I I I Iv

3 I v IT I

- (4) IV -1 1 II

mm@m:smcs FOR ROUGH WORK. . \.o.o o, oo -s '.
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4. e T s 1981 1‘1 2012 Wl w@! i’a’rhﬁer
¥
(1) 35
2 59T
3) 577 %
“4) 42T .
The average GDP growth rate during theJater phase of planmng 1981 to 2012 was
6)) 3 ] percent
@ 59 percent
(8) 57 percent
(4) 42percent .. -

1 o it ot A sl e sl
Y

4 ilﬁwmmﬂﬂﬁmﬁﬂﬂ M)Mwmﬁmﬁimm

C - o

% IR _ o @Q
) wmaae R @Q

(2) hatd fah i

(3) v N AP H

@ Fi | T ® Q’OS

should mclude ‘ ture 6n

2. Education '
b.” Health

. ¢. Energy consumption

Q- Onlyaandb

(2) All the three mentioned above
(3) Onlyaandc o
(4) Onlybandc

o mmmfsmce FOR Roueuwomt‘ S AL R AT T L T "ﬁ"c')-
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43. eI uiaria SeaeATeaT (NDP) =1 &8 THTER ¥ 2004 — 2005 =1 fehudiean s
Greftel Sree Sead :
I/ 87 7T (2010 - 11) eFaria
A, Wt L 93
q.  WYeM H -0
%. NR, gieed A ITEE 1. 83
€. e aifer e IV. 182
A q <h g
)l II III
(2) III v I II
3 IV I II III
4) II III v i 3
As per sectorial composition of Net Domestic Product g@ at 2004 — 2005 prices,
match the following : : &
Industry/ Sector Share (201&1 ) Contribution
@; rcent)
a. Agriculture I -3
b. Construction 127
c.  Trade, hotels and restaurants 6 II. 83
d. Banking and insurance \\ IV. 182
a b c (O'd
) 1 II Q v
(2) I v II
3 IV I II III
(4) II III v : 358
44, T M I TR AT ASHAIT VT Fearer fRAE e Torm qefemarr=ht
Tt ST 3.
(1) 200 (2) 150
(3) 100 (4) 125
MGNREGA aims to provide at least days of guaranteed employment in a
financial year to rural households covered under the scheme.
(1) 200 (2) 150
(3) 100 (4) 125
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. Wi (progressive) FX TEAI
%, el st dE awg
ot B Ry et ka7
Q) wTRAANE (2 A AE

(3) mw:ﬂrﬁm : 4) aqw:mﬁhas’

The Government of 1nd.1a has taken the following measures to curb the evil of .

 inequalities :

a.- Useof progressive tax structure

b. Etxpansion of private sector i

c.  Provision of public utility services ! | . Q
Wh1ch of the statements gwen above are correct ? 6§

1) Onlyaandb ‘ - (2) ? & and’e

(3) Onlybandec | : O ande

WWWW?«&W WM. 31 9%, 2014 vda wwd

| mﬁwmmmsﬂaﬂaﬁ
e mquv"t575ﬁ%m=lz=l (b’g\

) smmwer.ms.
(3) WIERUTH 2500

=

Port services are crucial to the. growth of an emerging eeonomy What is the total
capacity of Thdian ports reached as on 31™ March, 2014 ? :

(1) Approximately 575 miillion tonnes

(2) Approximately 1425 million tonnes
(3) Approximately 2500 tillion tonnes-
@) ‘, ' Appro:ﬁmﬂt@lj}ﬁgﬁo million timnes
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47. st g goft snfor LTS ITHT ALY 92 HaEaY TR
(1) 9roar=n (2) I
(3) fafag sq=n (4) TEEER &=
There is a direct correlation between the degree of economic growth and per capita
consumption of
(1) water (2) energy
(8) - various goods (4) telecommunication
48. URTQ glaur Yshesql oAfYeh IMfUT WAl Heftd rEdra i, e &l
Jrawta grar.
(1) urfigeEer (2) AT
(3) daTEqH (4) wleeh w4
Infrastructural facilities often referred to as economic and@al overheads consist of
(1) irrigation energy
(3) transport (4) All@\e above
49, A W v @ snRemhe gaen @Xwﬁaaﬁmmﬁmm
mﬁaﬁiﬁwmwmiﬁ IV FHEIHAT A8 <d 318 ?
¥, IUFR AT 3R m@ﬁmﬁa 9@?@ WA,
%. T ITEGhITA s wqei.
s e we=m srsfinefiet 3k HRIGHAET STHTE ST SHTIE RN,
(1) ea A (2) %Ed A, & AT H
(3) e W AT (4) St ad

The Indian Railway System is the second largest in Asia and fourth largest in the
world. Which of the following problems or issues in railway development is/are the
Indian railways facing ?

a. Increasing input cost.
b.  Suffer heavy losses on suburban and other traffic.
c. Intense competition from road transport.

d. Gross inefficiency and mismanagement in railway operations.
(1) Onlya (2) Onlya,bandec
(3) Onlycandd (4) All of the above
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50. m@mﬁ%@aw@%méwa@ mﬁamﬁﬂﬁaﬁvﬁm

frar/fam arriwr AR/eRG ?

A, wwmzzﬁﬁmﬁﬁﬁtﬁa@%@am@%maﬁ .

q. :hﬁﬂa‘laﬁq (Golden Quadrilateral) T feoett, gwd, 9= mﬁraﬁmmwﬂa
%, @q&qmmawﬂmmammmmm‘

T SR W WA € IRESHT (PMBJP) 3 R AEMT Sivvrt defta .

(1
3

Lo S . (2) wE A M H
Fed § ATV § (4) qmaw:mﬁls '

India has one of the largest road networks in the world. In this connectlon thch of
the following statements is/are incorrect ? '

a. India has about 2-2 m11]10n km of road network

b. Golden Quadrilateral (GQ) connectl.ng the four metros of Delhl Mumbai,
» . " Chennai-and Kolkata.

¢c. East-West corridors connecting Srinagar to Kanyakuman and Sllchar to

Porbandar.

d. Pradhan Mantri Bharat Jodo Pariyojana (PM@’) dea]s w1th bulldmg hlgh
. quality hlghways

(1> Onlyb =~ 2 %’aandc

(3) Onlybandd _ (% nyaandd

51. wrehe faum Rrewr o : QY

q. . w3 mﬁaw@wﬁaﬁﬁ%

% SRR ¥ TR e st s i,

Tl SR fum e 2

)

3

P 3

T F Afor =

Consider the following statements :

a.
b.
c.

Liberalisation shows the direction of reform in India.
Privatisation shows the path of reform in India.
Globalisation shows the ultimate goal of reform i in India.

Which of the statements given above are correct ?

(1)

3

Onlyaande = - ~ (2) Onlybande
Only a and b . (4) All of the above
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52. ’mmﬁg@ﬁmmmmmﬁ%ﬁ 2000
mm%mmﬁimqﬁaw‘ﬂmﬂmm.
Fet. mmmmmmwmmwmm w&?
A, - :ﬂ‘rlﬁaﬂlﬂ |
a4 wEA |
F WS
3. wARS ,
O wwma . @ wWT
(3) qma:ranﬁrs B @ wTRIAREF
'The major elements of liberalisation in Ind:a include autonomy. to the pubhc sector

- -+ units. Tn 2009, the govemment introduced the concept of M&hanamatnas to enable

them to compete globally, Which of the followmg was not mcludedi‘were not gwen
the status of Mahanavaratnas ?’ , o S
a. ONGC- o QQ

53.

(4) =@ 7 SurEE

Since July, 1991 the comprehensxve llberahsatlon measures undertaken are
Q) Trade and capital flow reforms

(2) Industrial deregulation and financial sector refo:lms

3) D:smvestment and pubplic enterprise reforms

@) A].l the above maasures

mwﬁm ISPACE FOR ROUGH WORK -
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A o oo e Wil siwerara 1 e, 2010 TR W,

a. mmmmaﬁmmmmmqm.
%, ﬂmhwmmmmmm
St R fum sl e ?

| 1) SmAAMre ; (2 wETafrs :

8) % A HMr= . 4) whadd v

- Consider the following statements rega.rd.mg the Goods and Services Tax :

a. GST is introduced from 1* April, 2010.

‘b After the implementation of GST the Government of India abolished the Entry

Tax.
¢. GST is implemented for Corporate Income.
Which of the statements given above are correct ? ‘\Q |
(1) Onlyaandb (2) OnlgfPndc
(8) Onlyaande " {4) the above

\d

wﬁmwaazﬁwrwm)ﬂm%ﬁa WWMWW

.Qﬁhq

. ﬁﬁﬂawﬁm mmmmlawmm&

Rt mmwﬁmmmmmm

() ww A | Q (2 wq

*

@ & = o | @) Fhet Tl T

Which of the followWing specific deman&s was made by India on agnculture under the
Doha Round in the WTO ?

a. Agricultural export subsidies W111 be phased out by the developed countnes by
2013.

b. Overall tariff reductions on bound rates for the developmg countnes “of not
more than 36 percent.

(1) Onlya - | (2 Only b
(3) Bothaandb ' , (4) None of the above
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(1)
@
(3)

(4)

I

w . - ‘ “7% L. .

=
g ¢

-

I

I

Match the followmg

.
e

d.

1)

2

@

@)

" Flrst F‘lve Yeu Plan

Fourth Five Year Plin (b'% Mahslaitobis Modei

-

2 g F

TRy R

Q
&Q ‘
&
@Q

| L (h@nmthsomal;ushoe and equality

e

-Domlr Mo@}

NmttheYearPlf”, Iv. Growthmthstabxhty

I
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87, arefter faer o o
. 1991nﬁmﬁmﬂamﬂmmwmmamﬁ$§ummgﬁmm
. mmﬁ*f&ﬂww%wﬂwﬁwﬁam
F.  GEICHS GUROT W e e H .
ettt oot Rrem/Rren s and/era ?
) A
S (Q) R F
@ wmAafw - . . .
@) A - o ,{9 |
" Consider the following statements : \Q& )
a. The Economic Reforms w @ted in India by the Government of Atal Bihari
Vajpayee in 1991, (b\ | |
‘b._l Macro-economic stalyil tion deals with demand management
¢.  Structural deal with upply side management.
Wh.mh of the stateﬁents giveri above is/are correct ?
(D). Onlyaandb
(2) Onlybandec
. (3 Onlyaandec
(4) Onlya
o] SIS AT / SPACE FORROUGHWORK ~ pTO.
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58, wrf&ihammw mmvummmwwmm .
wﬁa’lﬂﬁa&mﬂém araﬂahﬁﬁw&f&uﬁvmuﬁamﬂwvnmmmhﬁw
)1 7

A ara&aaéVATwmhmmwﬁawﬁé\amﬁ
o u VATmmwﬁwmmmmmm :
O wwaA |

(2) $WH

3) aiautﬁlaﬁ

@) et ol mh

Currently VAT is- the highest contributor jn tax revenué’ of St.ate Govemment.s
while there are cextam drawhacks too. Which of the fol]owmg statements is correct
~ about the demerits of VAT ? 7 . Q :

a.  Ani increase in costs is mvolved in working the V.

b. VATis hkelytogo against the principle of &intafxation.
(1) Onlya o |

@ Onlyb ‘ ’OQ |
(@ Non of the abov {b‘\ S
: one e above | L

Which of the followmg is not a finding of CAG about dmmvestment ?
(1) Resources generated used to meet current consumption needs
(2) Undervaluatl_on of PSUs

(8) Insufficient competition .

(4) Ad hoc valuation of shares

OO WTTENS) AT / SPACE FORROUGHWORK - .+ . xe= ;0 Lot e g
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A wEEr R

®. aazmﬁaf@ﬁﬁagmwn

SRR e S —————
@)

(2) - € P F

@ v o - Q&

o

) wEuamE

“ The mé.crbéeconomic stabilisation progr, e adopted by the government consisted

of the following measures : 6 ~
a.  Control of inflation {& _
- b. Financial sector refé@fb.

¢. Improving the c; of payment position
d. | Trade and cipital flows reforms
Which of the options given above are correct ?
(1) Onlyaandb
(2) Omlybandc

| (3) _Onl;'_raa.nd c

(4) Onlybandd

o] HHTHTE! SIP / SPACE FOR ROUGH WORK
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61. mﬁwﬁm ) e e g
A, tmaﬁamna?sooaaﬁﬁuh 190&mﬁtz’l% |
- a. maaamaeoooaaa‘lm 140%::11@3@
. 2015@%@%3103mmﬂﬂmwmmummw@ .
aﬂaﬂﬁ ahvﬁ ﬁ'crﬁ afm :ﬂr&a ? .
(1) wRAAT , (2) vaaEEM® . . .
(3) ‘Fﬁ?ﬂ:ﬂTﬁTTﬁ o @ aﬂa'&aﬁ‘rm" |
o Conmder the followmg statements :
a. India exports approx:unately 7500 commeodities to about 190 countnes
b. India imports around 6000 commod1t1es from 140 countnes
c.. India exported US $ 310-3 billion and unported US $ 447 Ebﬁlion commodities
- in 2015.
" 'Which of the statements glven above are correct ? \Q
(1) Onlyaandb: - Onlyb@nde .
@) Onlyaande | | (4) e above
62. 1960 - 61%2011-12mmmsﬂaﬂﬁ : wmmﬁaﬁam_
e ? ’0’ '
O 7 P IR 0) @ wh .
@) w@Rffawe - & (@) R I |
~ Which of the following group- ommod.lt:les is the hlgheat in Indm g export, durmg
. 1960 - 61t02011 - 122« ,
(1) Agriculture and products  (2) Ores and minerals
(3) Manufact - . {4) Petroleumproducts
63. arram@wﬁﬁma(mmﬁﬁwm@ﬁ R i
(1) T gt \ (2) e UED qzih
&) <eiam ‘ . (4) aﬂaﬂﬁﬁmm
' Under IMF, the exchange rate system was o
(1) Par value system (_2)' Currency board system.
(3) Dollarization (49 Noneofthe above
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‘o4, i B Reme
a. mmmmmomm
. mmmmﬁmmmmmﬁmmﬁ

.

. mmwﬁg@mtmmmﬂawmm
ram.

aﬁaﬂﬁfnﬁ/ﬁmﬁﬁmmaﬁmwuﬁﬁ?

(1) P ' . @ wEEA A

(3) ma ' S 4) mamm

Consldm- the fo].lowmg statements
a Internatxonal Development Association is established in 1960.
b. The IDA is a member of the. World Bank group and is- headquartered in

Washirgton. : R \Q
c. The main objective of the ]DA is concessmnal@ns and grants to the world’s
nchest countnes . S Q)
‘Which of the statements glven above is/are qa@ ?
(1) Onmlye - @ Onlyaandb
® Onlyb o‘)(\ 4) Onlyband e
65. ﬁmmmﬁ(smzmwnaﬁ\awmw ?
@) st s S
(2) WA FA= sﬂmrsq
@) iwia TR e e

4) Fhetd a-q‘ e
wmch of the following is nof an obJectwe of SEZ ?
N6V Generatlon ofaddational ecanomic activity
(2) ‘Promotion of exports of goods and services
(8) Prbmotioﬁ of iﬁvestmént from domestic and foreign sdﬁree_s
@) Al the above obJectwes '
munnmﬁm ISPACEFORROUGHWORK _____  PIO.
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66. wTESHe EeRd/fom € el wrer owE dft wEATem N, Us¥ o el
Tt foxfe semidi/frarram sft deftd MR, wiefiatd wur aEete AeaamE

ATt AT AT ?

A, WESHH T

¥, IS STETIH

%. HEAHS FHot

g, foxit yemem

(1) ord A (2) %Fd ¥

(3) ®HS (4) ed & AT §

Public finance is the branch of economics which deals with the financial activities of
the government at national, state and local levels. Which of the following is/are not
within the scope of public finance ?

a. Public revenue

b.  Monetary management . \Q :
c.  Public debt &% .
d.  Financial administration @
(1) Onlya (2) b
(3) Onlyd nly cand d
67. wreha faum fo=md = %Q‘

¥, SiESIEehg ¢ U U & TR G e I,

F.  TSIHNE ge & THresom= TR IcaETE Y 3.
ST Hivra/HIoTd! SIS 3Te/3Ted ?

(1) e 3 30T (2) Wad § AT ®

(3) wad (4) &

Consider the following statements :

a. Revenue deficit means the excess of current revenue expenditure over current
revenue receipts.

b. . Budget deficit means the excess of total expenditure over total revenue.

c.  Fiscal deficit indicates the total revenue requirements of the government from
all sources.

Which of the statements given above is/are correct ?
(1) Onlyaandb (2) Onlybandc
(3) Onlya (4) Onlyc
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66, THEERTgE@WEGE G s

(1) =T #X T i wege i
(2) wmmmwﬁaﬂamﬁmw

(3) g Yook T Figuft 6
4) sterhwd =

The prmmpal tax revenue sou.rces of the State Governments are
) Commercml taxes and land revenue -

(2) State excise duties on alcohol and other narcotics

(3) Stamp duties and registration fees

(4) All the above taxes

69. Gﬁhﬂiﬁtﬂvﬁmwaﬂ%ﬂ? .
(1) R fhar 3o T gEiela W |
(2) W o e wiieael @ AIemEde

FeEle W e o 7 d3alda =
(4) At Food T
Which of the following are indirect taxes ? QO
(1) Income tax or taxes on income and eirpenditu.re
(2) Property taxes or taxes on property and capi sets

(3) Commodity taxes or taxes on goods and seQ:es

- (4) N one of the above
70. mwﬁﬁaﬁwwmmmﬁ? 2;

\Q
(1) 2onfta 2) fEfr=
) \lg

(3) €I W (4) ST H
“Which of the following taxe @bt a direct tax ?
(1) Gift tax ' iQ (2) Salestax
(3) Wealth tax \@ (4) Incometax
1. YRATEAT WGH watae) A1 IETEET THIAY B

(1) %z, TsT AN &
(2 %z, Tu Ity qrwfrs 3w
) g anfr TST WK
(4) ThawEFER |
Public debt in the Indian context refers to the borrewings of the
(1) Central, State and Local Governments
(2) Central, State and Public Enterpnses
(3) Central and State Governments
(4) All the above Governments

mmm { SPACE FOR ROUGH WORK I PTO:
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72. m&aﬁaﬂmﬂﬁqﬁiﬁuﬁ mwmv | | |
Ca sinteaolyd Ree T e .
. mﬁmmmmmﬁﬂmm
#, aﬁaﬁmaﬁmmwwnmma\aw '
(1) wF@ A | 2) m:mﬁrml
() #,sxfs . @) v |
Which of the following statements is/are invorrect | 9

' a. Internal debt does not increase inequality.

b. An effective debt management does not reqmre an eﬂiment market for
government securities. :

c.  Public debt is not an important source of revenue to the govel:nment
(1) Onlya 7 : (2) Onlyb andwc .
(3) a,bandc ' : (4) Onlyb -

73. @Eﬁﬁﬁﬂﬁﬁﬁmw BEREEE : | {%'
. T W i 4N 1 I, 2013 Qmm
B ﬂmﬁgwmzoﬁamﬁﬁm .
®. i@mmmm m%wmﬁruiﬁmmmﬁm
(1 mawanfﬁra ,. (2) wE M H
@ aﬁamww

(8) WA A F
Consider the foll el statements :
a.  The Direct Benefit Transfer scheme was mtroducbd on 1'lt January, 2013."
b. Atthe begmnmg, this scheme is mplemented in 20 dlstncts in India.
: c This scheme is mplemented to 1mprove targeting, reduce corruption and

control expenditure.
Which of the statements given above are mcon'ect ? -
1 Onlyaandb o @ Onlybandc
(3) Onlyaandc _ o (4) None of the ahove
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ﬁmmwﬁmwwmmq@ ﬂwﬁmm@wm? ‘

H. W R 4% wda HTHT LuC | ﬁtﬁ Fft FET

4. IS U

% Wi foged e wd Ao

3. Flatd

(1) % A (2) wF«

(3) HH® o 4) w3

When the government cannot raise enough financial resources through taxation, it

finances the development expendlture through

a.  Running down its cash balances with RBI |
b. Borrowing from the market S

¢.  Borrowing from RBI

d. All of the above
(1) Onlya

(8) Onmlyc

785,

. 1ufl«, 2006 Tgd mWATaziuﬁmﬁammm
1) o H AN \ (2) % ¥ afor %
4) 3,9, FAMNS
Which of the following notable tax reforms were implemented in India since 1991 ?
a. Personal income tax, lower tax rates and fewer slabs |
b. Corporation tax reduced to 30 percent
c.  Service tax levied since 1994 — 95 ‘
d. VAT implemented in 21 States and Union Territories from 15t April, 2005
() Onlyaandd (2) Onlybandec |
(3) Onlya,bandec =~ (4) abcandd
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A mﬁammmﬁmmmﬁmmm
e 28% fRR Fe

.'a. Wmmmmmmmmmmm
ik mmmmmm«mmmm

aﬁaﬁﬂmﬁuﬁﬁﬁﬂm’

Q) s AP @) -Wwaﬁm"

®) o A A o ) ,aﬂa&eﬁma‘
I iConslder the following statements '

a. The Eleventh Finance Comn:usuon recommended that the'share of the States
in the net proceeds of ali central taxes dnd ﬂuﬁ”es be fixéd at 28 percent.

b. Population has always been one of the" criteha for dewrminmg the share of
~ States in tax proceeds.

c. | The Thirteenth Finance Commission has mmé&shm of the States in
net proceeds of shareable central taxes to 32 p@t. ‘

. W]nch of the statements gwen above are correct ?
- Only a e.nd b ' . (@ ly band c.
(3) Onlya end ¢ All of the above

75. mmmmkg inmﬁ:rilﬁ
(1) aazrl%IaMamha@ii'b.

L IR

(4)

" Capital budget of the Government of Indm conelst.s of
(1) Eltlmated recelpte and Estunated expepdlture

- {(2) Capltal receipts and Capltal expenditure ‘
(8 Revente receipts wad Révenue expenditure

(4) All the above thires reeeipte and expenditures

wee mmﬁ’mﬁr lspAcE FOR ROUGH WORK
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wﬁwmmmw 2003 (FRBM Act, 2003) ¥ &7 2006 7e) |

78.
, mmm@mmm (GDP)2sz#awﬁERum%3f€Q
7
HA. wWEgeA | . § Wb E
. T | 3. SRR E
1) A o (2 wRAANT
(3) wHH 4) T F AM™MS
The Fiscal Responmbﬂity and ‘Budget Management Act, 2003 (FRBM Act, 2003)
‘aims at reducing which of the following deficits to 2% of GDP in 2006 ?
a. Revenue deficit | b.  Primary deficit
c. Fiscal deficit ™ - d. Budgetary deficit
(1) Onlya ' ) Only a and b
(3) Onlyc S (4) Onlycandd
79. @ehe faum faemod . - Q
A o wairs Wi Feet samom 2001 - ozneitslﬁﬁ
9. {jaaves R v @ 2002 - oathsna@
F. @ GuUROm AR T sgedt 2000
- atet S R TR e 2
(1) wRAFE o \Q%) W 9 ot %
3) & A P \J:% @ aﬂaﬁﬁm‘
* Consider the following statem
a. _Gux?;antee Rgde_mptlo was established in 2001 — 02
b.  Department of Disiny ent was set up from 2002 — 03.
c. Expenditure Refi Commission was eonstltuted in February 2000.
Which of the state: given above are correct ? .
(1) Onlyaand o (2) Onlyb and ¢
(3) Onlyaandc - (4) All of the above
80. IEEERE = q{wmwﬁ -

1) westwd @ Wuﬁ

(9 ey w o (4) 'awn%aﬁfmmﬁa
Budget deficit = Total Receipts — .
(1) Capital Expenditure . (2) Total Expendlture
(3) Revenue Expenditure ' o (4) Govt. Borrowmgs and Ll&bllltles
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81. U YR fhheugd Weaa Sierg T Harel fohehened 250 Wb SuaTET W YeehIaw
1R ? '
(1) wid : (2) e e
3) g s (4) YR FAR
Which Indian cricketer recently became the bowler to take fastest 250 test wickets ?
(1) Ishant Sharma (2) Ravichandran Ashwin
(3) Ravindra Jadeja (4) Bhuvneshwar Kumar
82. YOI VAT QUM rRT APt TSITA1 THSAHEA oA Jeiel ohefl ?
(1) st (2) WREH ;
(3) gaH (4)
Which of the following countries rejoined the club of African States ?
(1) Egypt (2) Morocco
(3) Sudan (4) Kenya -
S
83.  UdIeTdeh! v MU S T TSTEAE WU et 3:1%‘;\‘:
(1) = e (2)
(3) Yheh-afect WANW (4) Qe
- Who has been appointed as the new Presi f Germany ?
(1) Charles Mitchell NQY2)  Keith Mitchell
(3) Frank-Walter Steinmeier ’\& (4) Freundel Stuart
84. UM Safas™ YwHR, 2016 et ?
(1) A=, THEeA & Saitd (2)  TE.H. JAHH
(8) <.+t TreE , (4) wAEH. g=TREn
Who won the Nati Bioscience Award, 2016 ?
(1) N.V. Ramanathan (2) H.V. Tulsiram
(3) V.B. Rangarajan (4) N.C. Pacharia
85. “wraTdel wes frear I HERTSIIAS vl Fear ToH TIH I hat ?

(1) 9@ (2) HIeRR

(3) Tayg (4) et

Which district of Maharashtra stands first in ‘Clean District of India’ ?
(1) Satara (2) Kolhapur

(3) Sindhudurg . (4) Ratnagiri
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q. T Haeh 7 e wfms i vgE e g enfie SR SR

%, o uniiteed @ PR R g ww s gR ewnfe s e,

(1) wH A | ’ '

@) wE

@) wHF

4) ot ol T

Select the incorrect statemeont.

a. P.A. Sangma and Jaggi Vasudev are honoured by Padma Vlbhushan

b.  Virat Kohli and Sakshi Malik are honoured by Padma Bhushan.
c. Appa Dharmadhikari and Nivedita Bhide are honoured by Padm.a Shn.

(1 Onlya . : N
(2) Onlyb | L _ 6§Q
_ (3) Onlye ' o é
* (4) None of the above . | Q y

T T U, N
87. r \0(0'

A, Aag o At S

. ﬁﬂa:m’mw;s , ,&&
%, faw sun oyg Q(b“ |

T A wafen @ ¢

(1)"%31,331@ ,(2') Had A, q AN
LB WA F 4) S, FH AT

Urjit Patel was an adviser of the institutions ' ‘

a. International Monetary Fund

'b.  Mittal Industries Group

¢.  Reliance Industries Group

d. Boston Consulting Group

(1) Onlya,bandec | (2) Onlya,bandd

(3) Onlya,candd 4) Onlyb,candd
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88. rmﬁ;as:rrﬁ:qﬁimm 2016 7 WRA™ WAE__ - GadR Ik -
() esT . (2) 66m (3). 674 @ sssan
India stands on _place in the Global Innovatmn Index, 2016 _
1 e @ 6sth | @ svth o (4) sath
89. %ﬁﬁ’(aﬁa)mwﬂvﬁﬁrﬂmm" | |
. (1) vorE el | (2 -#. fgmrr 1
3) i s | (4) THIZ WEH
Who write the book ‘Uniki’ (Existence) ?
(1) Pranav Mukherjee (2) C.Vidyasagar Rao™ " -
(3) Hamid Ansari - (4) PmmodMnhman
90.  sh @, 2017’mmwﬂu?mv |
(1) WTgHd P (2 mdsga:w‘f
(3 wmiwEm @ Ty
Who was awarded by ‘Legendary Award, 2017 ? N
(1) Michael Shumacher (2) . Mark ZudRerberg
(3) Lata Mangeshkar | (4) Rat@ta. | ‘
o1. mxmmmqmmw%mmmm

_ ® . @ .
image for empty place of the figure X, without turning or

v v 2‘7 Ava

(D (3) ' (4)
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A piece of gquare paper is folded along dotted lines to get a trisngle. Then this
triangle is punched as shown by different shapes. Sel e image that looks like
the unfolded paper after punching. N

A,ﬁﬂﬂmﬁmaa:m% qaﬁﬁmwmq@?ﬁmmm mmm

. 91 RN 39 AR, W wata 39 Fr M ?

L e | (2) =
L@ | L@

' Shirish is taller than Spandan. Raju is taller than Charu but shmrm Bala.

Spandan is shorter than Charu Charu is taller than Shirish. Who i is the tallest ?

(1) Shirish | (2) Bala
(3 Spandan | CY) Rauu S
mmmtam:smce FOR ROUGHWORK ~  ~  "pT0.
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94, TWA+BTEUS Ag B adid 318, Ax BRUS A& B a1 3R, A $ Bt Ad B
' T 3R T A= BEUS A 'l B WS 3R, W YSeideh! svd faum P& Q <f gerft
are, @ fAfvea =@ 2

(1) Q+R=P=N
(2) QxR$P$N
B3 QxR$P=N

(4) ITah! ThE ATE

If A + B means A is the father of B, A x B means A is the mother of B, A $ B means
A is the sister of B and A = B means A is the broth’e@ B, then which of the
following means P is the daugher of Q ? &6 %

<&

(1) Q+R=P=z=N "09
(20 QxR$PS$N @9
&%
38) QxR$P=N \l_
| >
(4) None of these

Q

A

95. 29 500 H. wisfen é@ﬁﬁﬁmm gl IMRd. o= AT I
45 T Y. /arsft enfor . /arel 3R, ATEE MEEAT STehe IATETETE Hedt e Rt
3 U3 ?
(1) 48%eq (2) 14%eg
(3) 60 Thg (4) 243

Two goods trains, each 500 m long are running in opposite directions on parallel
tracks. Their speeds are 45 km/hr and 30 km/hr respectively. Find the time taken by
the slower train to pass the driver of the faster one.

(1) 48 sec. (2) 14 sec.
(3) 60 sec. (4) 24 sec.
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98. Tger @ IR goa widEifte T@sEn e fedigEar A, B, C 9D @ s 9 a
© L IRa. 91 qeasren Rt T 450, T 520, T 5459 T 551 1T TR, UTH T HEME. AN
3R . @ TF Ty, Ty, Ty d T, 91 Tedish THHIT Ity 3Nd, A ff e wam sradie
W A, M GeaswEEaen quefie ghwsmm; C st fRme © 551 AR, D it fRaw T 545 o
q Ty TFFA 98 . A R T, gFHIA ITerey 32 anfr T 450 1 RerfR &% T,
TEMR I9eeg IR, T 520 Fma sraciew qeaswran qma quefier faer.

(1) 3% BU A T, e 37 IR,
©) ga%Aa%Tln@m_'m%.
(3) T<F BH A Ty el Iuerey L.
(4). WBE%T4@ma1%.

. Shiu wants to present books A, B, C and D to each of his four cousins. according to
their choice. Cost of the books is T 450, T 520, T 545 and ¥ 551, not necessarily in
the given order. They are available in the stores T;, T, 'I& d T,, not necessarily in
the given order. Other details about the books are i@ﬂows; Book C costs T 551,

book D costs ¥ 545 and is not sold at Ty; A is avai{@hle at T; and the book that costs
T 450 is available at T,. Select the option th icates correct details of the book
that costs ¥ 520.  ~ -

1) Book B and is available at T,. \Q@'

@ Book A and is available at T&

3
@

97. SR 784 & 342 7 WO W &THY W
1 o * @2 1
@ 3 B 4 5

Find the remainder when 784 is divided by 342.
(1 0 2 1
@ .3 : (4) 5 ‘
mwmmhm ISPACEFORROUGHWORK =~ =~~~ 77 PTO!
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(2)

@) .

@

9,25
25,5
5, 26

40, 200 =

9,25
25,5
5, 25

40, 200
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99.  wwERFEr IFf R SEN AW ? L L e
X | Y O=|0 = x |
o - ? xla o
= oxgl - AOlo |
A A O
= x| o =
ODox|=00|0=x|A0x
) @) @ @
Whlch ﬁgurewﬂl ﬁx at-the place of question mark ?
X i 0O =[O0 = x
0 = ‘7 XA O
l= Joxol. Caole A
A A A sl Q .
B ! A I
Oox|=0o0[0=x Q,@Q

R (2) 3) @

100. & FEarie 9% @ P, Q, &sC%ﬁiﬁ,éﬁﬁm,m,m,ma
TR (vt ad) s, @ P ok ok, B R $RroRd wdie e w3
HeTHE TEE. Q¥ R SR T . 'B'arﬁars?mﬁmaamaﬁ
‘C @ A ™ IR, WA’ IR o Ik 7
(1) FA@HER (2) 3Rrhe
(3) aIIAH ‘ (4) @nTar Iq AT

The six members of a family namely P, Q, R, A, B and C are painter, engineer,
* manager, artist, dancer and clerk (not in this order). A who is a dancer is the mother

_of ‘P’, B is the father of an engineer, is not an Artist. Q is the grandféther of 'R’ who
is an engmeer ‘B’ is mairried to ‘P’ who is a painter. ‘C’ is the granddaughter of ‘A’
and is a manager. ‘A’s’ husband is

(1) Artist : (2) Engineer
(3) Manager ' (4) Cannot be determined

| 3701 FTHIS! IR / SPACE FOR ROUGH WORK




(8) wgfEraed fafda Faen fafire Smfte F= &m (@ %) A, wgﬁ%mﬁﬂaawqﬁammw
mﬁmm%mmm%ﬁaﬁ I AFS A 9 AR IACTRISK AEAH
I Feren ‘wlamed o= Fosri gy s sfufrm-82” Al wgdqEn wRam
mﬁaammm@mmm/mm@mmmﬁm

LR SR

9) mmmwmwmmﬂm@wmmm@m
USA T WA R, W THUTRATEE WggEi IWEENE Suedt Iwutreear Wmr-1

AHAgETRS 7 Rt wa o savae AT,
e Tea

. 3. 201. mmwmmwzm%@?'
(1) & g g 2) aEg farmmR
) I THETE T (4) TS .
mmmm“(s)wmﬁm T o AR, 1 g W 3)) A,
A QAT T 56, 201@(133?113:“1%\ " R ade il SEifa we
TREf0 TS IR. Q

w2 @O @ @ 0O 0%
e g Wgd Segfeehdie T IT-HAIS &1 JRTAT Taaien Qasen

ITURatE 1 & T Ide qUIIUl BHEIfhd & GREATET. ETERINET
e TTGAT VTS diera aTar T VITE U7 99% T, :
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